November 02, 2015

PartI (95 pts)

1. Find thelength of the arc for r(t) =< cost,sint,Ilncost >, 0<t< g
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Letr(t) =< 2cost,2sint,t? >fort = 0.
2. Find an equation of the normal plane. ’(
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3. Find the unit tangent vector at t = 0.
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4. Find the curvature at the pointt = 0..
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Part II (15 pts)
5. Find the curvature of the curve with parametric equations.
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PartI (95 pts)
A unit cube is placed in the first octant, where Cis at (1, 1, 1) and A, B, and D, are on

x-axis, z-axis, and y-axis, respectively.
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3. Find the projection vector of AC on AD.
4. Find a vector thatis perpendlcular to both AC and AD.
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5. Find the area of Triangle ACD.
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6. A 120-1b weight hangs from two wires as shown in the figure below. Find the

tensions (forces) T1 and T2 in both wires and their magnitudes.
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